Polarized 3He Test work
status



Cell Wall Thickness

Cell Measured points Average(m
Name Part | A(mm) B(mm) C(mm) m)

Pumpi 3.02 3.10 3.06

Maureen ng
Tube 1.63 1.62 1.64 1.63
Target 1.54 1.52 1.53
Pumpi 3.05 3.19 3.33 3.19

Astralwe ng
ek Tube = 1.59 1.59 1.58 1.587
Target 1.58 1.64 1.58 1.60
Pumpi 2.8 2.84 2.54 2.727

Brady ng
Brady appm to be360 1.26 1.36 1.327

thinner | Target 1.44 1.40 1.38 1.407



Exponential Fit
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Fitted range ~ 2.5 *tao, and ignore the first
point



Tao of Pumping Cell

fitted tao(hour) of spin up for pumping chamber
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Tao of Target Cell
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Water Cell NMR signal

ﬁjﬁlﬂji%?ﬁtﬁ}iﬁzﬁ e 0.0007764 / 260

0.015 A LTL const 0.1385 + 0.0009679

‘ 55_~ K : groundslop  -0.01668 £ 6.417e-05

» /*’“ _ }j@ groundslop2 0.0004537 + 2.067e-06

001_ .................... .......... _.{ h 0.02284 + 0.001052
| ié&

0.005 5 § H1 0.04584 + 0.003836
005 e R S | W, S o 458420003636

-0.005
0.0

-0.015
e CI 0003387 / 260

002 b 2 F.....| const -0.02154 + 0.0006258
= - groundslop -0.0001477 + 4.09e-05
20,025 F—-n T S A4 .......| groundsiop2 3.12e-05+ 1.332e-06
- :H i | h 0.01876 + 0.0005249
S0.035— e AU SO e B H -0.09143 £ 0.005504
— | HO 21.29 + 0.003954

- 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |
U‘anﬂ 19 20 21 22 23 24 25




4t




To do

1.Analyze the water calibration data and calculate the

polarization for 3He.
2. RTD calibration and New RTD install, we need a new wire for

the new RTDs.
3.Zapper Coil
4. Pulse NMR
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